0
s

bar{A\}/K

Ratio to LHCB

=

0.8

0.6

0.4

0.2

0.5

900 GeV pp
AL IR R

— m LHCB

NKOS vs p_(2<y<4)

— --1-- Herwig 7.0.4 default

I ¢ Sherpa 1.4.2 default

ISolft QCID

Rivet 3.1.0, = 100k events

©
D
u = ks
- s
B S a 18
" =
| <
. S,
] s 15
— — c
— / S ¢ ] 8
/” . ’ m
- e - 5
..... od o
&7 — O
P | P P RN T B | P P R R | P P RN T B | P P R R | -
: T T | T T T T | T T T T | T T T T | T T T T |:
— -2
I 1
B BT T Gl _
N - |
I |
| —0.5
..... T T T EE S TR T S A T S S TR R T T T SR
0.5 1 1.5 2 2.5



	Contents
	Page 1


